DATE

Apply

conceptual understanding of measurement by solving two step word
problems.
1) Samantha and Bill are having a bean bag throwing contest and need to measure

each of their throws.
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5 meters 3 meters

d) Sarah throw her bean bag 3 meters farther than bill. Who won the contest?

How do you know?

Answer:
Bill threw his bean bag at a distance of __ meters.

Sara threw her bean bag __ meters farther than Bill.

So, Sarah threw her bean bag at a distance of 5 + 3 meters.
54+ 3 =_ meters.

Reason:

Sarah
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